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1 |dtiE
2 |[EHRE 2.0E+2 200.0 200.0
3 |BEFE 5.7E+2 570.0 570.0
4 |EEE 5.0E-1 0.5 1.1E+3 1,060.8 1,061.3
5 |#EE 1.1E+0 1.1 1.0E+1 10.0 11.1
6 [ILZE 4.4E+0 44 1.3E+3 1,345.0 1,349.4
7 [EER
8 |ZWE 9.0E-1 0.9 1.8E+4 17,631.9 17,632.8
9 |HAE 9.4E+1 94.0 94.0
10 [HER 3.6E+2 361.0 361.0
REEET! 47E+2| 6.0E-1 470.8 50E+0| 1.9E+3 1,891.6 2,362.4
12 |FER 1.8E+2 179.0 179.0
13 |HREER
14 |[#E)E 1.5E+3 1,500.2 9.3E+2 929.8 2,430.0
15 |FriRE
16 |[EWE
17 |RINE 1.0E+2 100.0 100.0
18 |f&@HE 8.5E+1 85.3 85.3
19 [IIRE 2.9E+2 293.0 293.0
20 |RBFR 7.0E+0 7.0 1.4E+2| 2.5E+1 165.0 172.0
21 |IKEBR 3.7E+2 367.0 367.0
22 |EEEIR 2.7E+0 2.7 5.5E+1 55.1 57.8
23 |BHIR 4.1E+2| 25E+1 4352 2.4E+3 2,447 1 2,882.3
24 |=ZER 8.6E+2 861.7 861.7
25 |#HER 3.3E+3 3,343.0 3,343.0
26 |FARRT
27 | KBRAF 4 5E+2 4480 4480
28 |EER 1.3E+3| 4.4E+0 1,304.4 2.5E+3 2,480.0 3,784.4
29 |ERR 5.9E+0 5.9 5.9
30 |FNFLE 1.4E+2 140.0 140.0
31 |BHRE
32 |BRE 5.4E+1 54.0 54,0
33 |EWLE 2.4E+1 24.0 4.9E+2 485.0 509.0
34 |[LER 1.9E+1 19.0 1.4E+2 1400 159.0
35 |ILOg 6.0E+3 5,955.7 5,955.7
36 |EER
37 |BNE 7.6E+0 7.6 7.6
38 |BIRER
39 |EER
40 |fERR 6.2E+0 6.2 1.7E+3 1,654.6 1,660.8
41 |*EER 3.0E+0 3.0 3.0
2 |RIBER
43 |EEARER 9.7E+1 97.0 97.0
44 | KHR
45 |BIBR 5.4E+2 540.0 540.0
46 |EEER
47 |[HiER
£ H 3.7E+3| 3.6E+1 3,784.0 15E+2| 4.4E+4 43,9935 47,7715
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